) 1 2
H 101 C 1201 N 1401 O 1600 Na 2299 Cl 3545
45% 3
1. (A)CH; (B)NHz (C)H.O (D)HF
2. HPO? (aq) (A)H3PO4(aq) (B)H,PO, (ag) (C)PO; (ag) (D)H:O"(aq)
3. (A) B) ©
(D)
4. pH 4.5 (A)NaOH / NaCl  (B)NHz pKp=4.74 | NH4Cl
(C)HCI / NaCl (D) CHsCOOH pKa=4.74 | CH3COONa
5. ocCr H*
25 HOCI(aq) Ka 351" 108 OCI (aq) Kp
(A)1.00° 107 (B)2.85 10’ (C)7.02 " 10’ (D)351 " 10°
6. PV Tn
(A) (B) © (D)
n T ) (n P ) (n )
PV
PV P V RT
() * Y T P
7. k] (A)-395 (B)+2 (C)+395 (D)- 790
C( )+0g® CO0) DH = - 394 kJ
C( )+0g® CO0) DH = - 396 kJ
8. a b. C. d. (A)bcda
(B)abcd (C)bdac (D)achd
9.
(A)NOs (B)CI (C)C&" (D)Hs0O"
10. 1.00 g/cm?® kg/m®  (A)0.00100 (B)1.00 (C)100.0 (D) 1000
11. uc (A) 6 (B) 6 (C) *C (D)
12. 85.6 % C (A) CoHo, (B)CyHs (C)CaHg (D) CeHe
13. 10 m 30 m 10L L
(A)1.0 (B)2.0 (C)3.0 (D)4.0
14. (A) X B) © (D)
15. NaCl (A) 1.0% (B) 001 (C)1.0M (D)1.0m
1 2 3 4 5 6 7 8 9 10 1 12 13 14 15




N, (g) +3H,(g) #:® 2NH,(q) 1.00 kg 1.00 kg
N> mol 2% H, mol 2% NH;3 mol 3%
g 3% 2% g 3%
VSEPR 15%
(a) NHs (b) CH, (c) PCls
(d) BeCh, (e) XeF4
Na$05(a0) 0.1250 g  KIOs(s) (214.0 g/mol) Kl(aq) K103
B 105 +51" +6H" =3 I, + 3H,0 4185mL  NaS,05(a0)
5% NaxS,03(aq) (5%)
l, + S0 = I + S0
CH,OHCH,OH 2.000 kg 500 g 5%
5% b.p.197 5% 1.86 /m



